=
H = 0l & AF &2 H M A
20218 & = 3 3 LBt H A&
2N AL
H: C2HHA
Gl 2K (=& &)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 IR Hns2
A4 30,942,788 26,941,601 4,001,187
= 32,000 0 32,000
= 296,000 296,000 0
£ 500,000 0 500,000
- 2,016,903 1,539,902 477,001
x 810,000 200,000 610,000
= 27,287,885 24,905,699 2,382,186
TEAHE 11,731,176 10,208,739 1,522,437
Fay 165,000 165,000 0
S 500,000 0 500,000
< 982,602 971,602 11,000
X 440,000 20,000 420,000
= 9,643,574 9,052,137 591,437
T2 A2 7,347,176 5,835,739 1,511,437
S 500,000 0 500,000
& 789,602 789,602 0
X 440,000 20,000 420,000
= 5,617,574 5,026,137 591,437
orgotd & ez JH| 3,008,000 2,968,000 40,000
401 AIEHI L 201 Y| 3,008,000 2,968,000 40,000
01 Al HI 3,002,000 2,962,000 40,000
onterd ¥ U= FH| 1,795,000 1,755,000 40,000
OotY WNMIEDIS ot HUIALY 40,000 0 40,000
T8 3 o1AHY| 924,658 755,858 168,800
T 489,602 489,602 0
= 435,056 266,256 168,800
101 124 bl 924,658 755,858 168,800
T 489,602 489,602 0
= 435,056 266,256 168,800
03 RIHEZZRE 924,658 755,858 168,800
OB+ (LI2) 924,658 755,858 168,800
(OPIF== a8 475,800,000& 475,800 468,000 7,800
T 369,328 369,328 0
= 106,472 98,672 7,800
OLEESE=, a8 231,000,000& 231,000 70,000 161,000
MHEHAAIS (Ot -2 HHI) 420,000 0 420,000
x 420,000 0 420,000
401 Al HI L 20 Y| 420,000 0 420,000
x 420,000 0 420,000
01 Al& HI 420,000 0 420,000
0ONd HdsS0ts H2LFHIANY[=Z LS A] 250,000 0 250,000
X 250,000 0 250,000
01Nd SUWOtE AHAFHIANYG[ZZHEA] 30,000 0 30,000
x 30,000 0 30,000
ONd HAEQIE AH2LFHIANY[=Z LS A] 30,000 0 30,000




2N
X ZH -
L= B

el

A&
cRAL
cEexze

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2

x 30,000 30,000
OWIt AN LAY [ZZLYA] 30,000 30,000
= 30,000 30,000

O35 MA(ST)0HS AL HHIBAZTLY
) 50,000 0 50,000
% 50,000 0 50,000

OME HLOZ 22 ATALS HXAY[Z
2EYH] 30,000 0 30,000
= 30,000 0 30,000
oYm MDY MIta 500,000 0 500, 000
s 500,000 0 500, 000
401 Al HI L 2 THHI 500,000 0 500,000
s 500,000 0 500, 000
01 Al H 500,000 0 500, 000
0Ye %YW ABDY MItA 500,000 0 500, 000
s 500,000 0 500, 000
ABDY WItE 440,000 340,000 100,000
401 Al HI YL =2 Tl 440,000 340,000 100,000
01 A&l 440,000 340,000 100,000
O0t2D HHAY(SHEEZZ 10354 ) 100,000 0 100,000
7588252 Il=7(EE) 282,637 0 282,637
401 Al HI L =2 Tl 282,637 0 282,637
01 A&l 282,637 0 282,637
0ZE W=7 214,561 0 214,561
OZ T35 +HERBAH(SHA ) 30,087 0 30,087
OZEI7SH +HETBAHUIIAR) 31,266 0 31,266
OTEBEH +HSPBAHYHSH) 68,122 0 68,122
OZE10SH +HETBAHESI014l) 85,086 0 85,086
LR 68,076 0 68,076
083t erolnig o2 =R A 33,883 0 33,883
OSol H&EDIS 242 +H=RTA 34,193 0 34,193
ST DS el A 903,000 892,000 11,000
7 165,000 165,000 0
< 193,000 182,000 11,000
= 545,000 545,000 0
DEAHAIL (2 XE) 11,000 0 11,000
< 11,000 0 11,000
401 Al HI L 2 THHI 11,000 0 11,000
< 11,000 0 11,000
01 Al H 11,000 0 11,000
OAZIHH S ANUY LAY 3,000 0 3,000
< 3,000 0 3,000
OMSAYUCE YFHINT HXAY 8,000 0 8,000




2N

A&
HM: c2HH
gel: NsSHuSel e A (et &d)
SA- - H2A(3A) - MM - BES Ofl &F 4 I ZH Hus2
| | | [ 8,000 0 8,000
sEg48s N3 8,213,003 7,339,680 873,323
= 32,000 0 32,000
& 119,100 80,100 39,000
e 220,000 30,000 190,000
= 7,841,903 7,229,580 612,323
Sg4aolerEyl 7,799,000 7,204,000 595,000
& 45,000 45,000 0
= 220,000 30,000 190,000
= 7,534,000 7,129,000 405,000
ARSI LHALFHH (52) 1,205,000 940,000 265,000
401 Al HIZ 20 1] 1,205,000 940,000 265,000
01 Al& Yl 1,205,000 940,000 265,000
Ond =S4l s2 HEZIMY 100,000 0 100,000
Oot2 QLI 52 WEZAL 60,000 0 60,000
Ootd Z&XF sZIHIAY 50,000 0 50,000
Ool0l F=A7 52 AHZEZIAL 55,000 0 55,000
=clH w=clAlE S22l X3 320,000 180,000 140,000
401 AIEHIZ S CHYI 260,000 120,000 140,000
01 AlZHl 260,000 120,000 140,000
O=clAH=clAl2 KX 2 260,000 120,000 140,000
WEHASAAS (SIIBEAIE FHHI) 190,000 0 190,000
e 190,000 0 190,000
401 AlEHIZ R0 8] 190,000 0 190,000
x 190,000 0 190,000
01 Al& I 190,000 0 190,000
01d SAES SH=ZFHAMY [FZ - 30,000 0 30,000
e 30,000 0 30,000
Ong MS02 sZEHIANG[FZ2LHEH] 30,000 0 30,000
e 30,000 0 30,000
Ot NSOHE =22 AFNLM[FILE
&1 30,000 0 30,000
e 30,000 0 30,000
Og2 LA E+ZFHIMG[FZLEH 60,000 0 60,000
60,000 0 60,000
033 XE0e s EHIANS[FZ2HEH] 40,000 0 40,000
x 40,000 0 40,000
= o T af off 2 338,323 60,000 278,323
= 32,000 0 32,000
& 69,000 30,000 39,000
s 237,323 30,000 207,323
S HHI S0 (2H]) 40,000 0 40,000
= 32,000 0 32,000
= 4,000 0 4,000




2N
X ZH -
L= B
el

Fag=n;
sEE8s N2
= & TH ol o1l &

SN SAGEA) - MRALY - BES 0l &t o 0% o HlDE 2
o 4,000 0 4,000
401 A& HIZ 201 I 40,000 0 40,000
= 32,000 0 32,000
& 4,000 0 4,000
= 4,000 0 4,000
01 A& HI 40,000 0 40,000
Oso ZIIXF s&UHl EHL A 40,000 0 40,000
= 32,000 0 32,000
< 4,000 0 4,000
[ia 4,000 0 4,000
S HHI 0 (ZHI) 70,000 0 70,000
S 35,000 0 35,000
[ia 35,000 0 35,000
401 AIEHI L 2 CHYI 70,000 0 70,000
S 35,000 0 35,000
[ia 35,000 0 35,000
01 A€ HI 70,000 0 70,000
OoGt0l F==Xl7 &Al StolitiHl Z==IHZ At 35,000 0 35,000
=) 17,500 0 17,500
= 17,500 0 17,500
OM&E E3X+ &Al StoltHHl S0 At 35,000 0 35,000
= 17,500 0 17,500
[ia 17,500 0 17,500
7.5.-8.8FS2 I=F(=g218t) 168,323 0 168,323
401 Al HIZ 201 8] 168,323 0 168,323
01 A& HI 168,323 0 168,323
OsYIIEAIE o= 23 A 168,323 0 168,323
Odtol At=X7 52 o= S A 29,052 0 29,052
OUIt SAHXF =2 o= A 20,072 0 20,072
OZE HEUHEXNT 52 s=HHEFSA 23,504 0 23,504
OZd HE0ES =2 iSRS M 44,991 0 44,991
OMdE E=2M==X =ol=S7SA 7,835 0 7,835
O3l 4=0tE s2 siE23M 21,814 0 21,814
O3l SH0tE =2 =S A 17,138 0 17,138
Osdl =302 StH+=2 sH=23A 3,917 0 3,917
SN2 & ot EH 9,102,961 7,497,534 1,605,427
=) 915,201 488,200 427,001
e 150,000 150,000 0
i 8,037,760 6,859,334 1,178,426
S EHIALS 9,102,961 7,497,534 1,605,427
=) 915,201 488,200 427,001
e 150,000 150,000 0
ia 8,037,760 6,859,334 1,178,426
75.~8. 8552 Il (Xgstd) 718,911 0 718,911
=) 427,001 0 427,001




SN AL
Y 2N L AP
Sl OHEFHIAY CERED
SA - BAEN) - NRAY - LS 0l &F 24 o1E o HRE2
= 297,970 0 297,910
401 AIEHI L 201 HI 718,911 0 718,911
< 427,001 0 427,001
2 291,910 0 291,910
01 Al bl 718,911 0 718,911
o2l DEE +HEIBMZZLYH] 5,963 0 15,963
= 5,963 0 15,963
ouEl HEH 2HZSTBAM[ZLLYA] 25,837 0 25,837
= 25,837 0 25,837
O SUHE +HEIBMZZLYH] 8,814 0 8,814
= 8,814 0 8,814
OYS Y2H 2HZSTBMN[ZBLYH] 23,504 0 23,504
= 23,504 0 23,504
0313 HAUE +HETBAMESLYH] 37,728 0 37,728
= 37,728 0 37,728
ODIY DIAE 2H=ETBA[FZLYH] 23,241 0 23,241
< 23,241 0 23,241
OBt SHHH 2H=TTA 20,370 0 20,370
< 10,185 0 10,185
2 0,185 0 10,185
OYE SHAE LHZTZA 25,275 0 25,275
< 12,638 0 12,638
2 12,637 0 12,637
OYE YHY 2H=ZTTA 85,441 0 85,441
< 42,721 0 42,721
2 42,720 0 42,720
OYE UIHE +H=ZTZA 117,744 0 117,744
< 58,872 0 58,872
Z 58,872 0 58,872
0Y2 HHH 2H=TTA 31,339 0 31,339
< 15,670 0 15,670
2 15,669 0 15,669
OME F2H 2H=ZTBA 53,582 0 53,582
= 26,791 0 26,791
Z 26,791 0 26,791
OO POHH 2H=TZA 172,020 0 172,020
< 86,010 0 86,010
2 86,010 0 86,010
O35 HEH +H=ZTZA 56,018 0 56,018
= 28,009 0 28,009
2 28,009 0 28,009
O35 SBMHE 2H=TZA 22,035 0 22,035
< 11,018 0 11,018
2 11,017 0 11,017
7580552 W22 (A5HA) 836,516 0 886,516
401 AIEHI L 201 bl 886,516 886,516
01 Al bl 886,516 836,516




A R =y
gz 532X & oAl
Sl ot EHIAY (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
O1nd sUASHE =23 AM 14,533 0 14,533
O&el ME=L40td iSRS At 12,927 0 12,927
OOl slsSAcHAE sol=E R ZA 28,401 0 28,401
OUI HEACHHE =l ZA 23,112 0 23,112
O S ACHE ol ZA 7,835 0 7,835
OUI WHACHHE o= ZA 7,345 0 7,345
OZs HEACAE 2R ZA 144,471 0 144,471
O0Z2 F2AGHE sHERSAM 10,577 0 10,577
OMNE SXALotd =ol=S2ZA 15,278 0 15,278
OMNE BZAGHE HERSAM 3,917 0 3,917
OME 2 LotA =oll=S 2 ZA 7,835 0 7,835
OMNE HAALGHE =HERSAM 10,185 0 10,185
OME 3140 =oli=S A3 A 33,807 0 33,807
OTC MZAGHAE o= ZA 61,435 0 61,435
O+g 4EsA0tA ol ZA 85,065 0 85,055
O78 ELACHE o2 ZA 24,190 0 24,190
O+ MsSAotH =ol=S2ZA 24,190 0 24,190
OT8 SHAACHE o= 2 3A 37,327 0 37,327
O72 SUHAGHE =HERSAM 16,425 0 16,425
OF8 ASACHE o= ZA 35,256 0 35,256
OF2 FHAGHE HEF23AM 21,910 0 21,910
OF8 EHAGHE =ol= 2 ZA 29,772 0 29,772
O3lst M=ATHAE =R ZA 16,061 0 16,061
O2lst 22408 ol 2 3A 31,829 0 31,829
Ozlst HACHAE o= R ZA 14,839 0 14,839
Ot dHAotd =oll=S A ZA 96,331 0 96,331
Sofl ZEACHE o= FSA 7,835 0 7,835
Osolf S&Aotd =ol=ZA 7,835 0 7,835
Osoll HEAotA ol ZA 10,166 0 10, 166
Osdl UoIEA0HE =23 A 45,837 0 45,837




